APTER 1ED1
CH y

int is on the graph of the given equation,
2, 35+ y=4+3%(22) no

1. 6 — 16x% = 2y; (=1, —5) Yes o :
9 S . A W 2

3. Tell whether the graph of y = o2t e lx ~ 9.0DER8 lr:]pw‘:irb“;)nrw:rdr.]mzrxi;&(:n

: whether the parabola has a maximum or a minimuin. ¢

eros of the quadratic function

without graphing, tell whether each po

5. Find the axis of symmetry of the ;..
abolg,

4. Find the z
from its graph.

6. Find the vertex of the graph of y = x% + 6x +8. (—3, —1)

7. Graphy = x* — 4x + 2.

t is launched with an initial velocity of 110 meters per second. The height h of the
quadratic equation h = —5¢ % + 110, where ¢ is
how long after the launch does the rocket return

8. Arocke
rocket in meters is approximated by the

the time after launch in seconds. About
to the ground? about 22 s

Solve each quadratic equation by factoring.

9. x*+6x+5=0 =95, —1 10. x? —12x=—-36 6 1. x*—-81=0 %9
Solve by using square roots.
12. —2x*=-72 16 13. 9x2 - 49 =0 i% 14, 32t 12.=10.0
Solve by completing the square.
15. x%+ 10x = -21 —7, -3 16, x> —6x+4=0 3 +V5 17. 2x% + 16x=0 8,0

18. A landscaper has enough cement to make a patio with an area of 150 square feet.
The homeowger wants the length of the patio to be 6 feet longer than the width.
3 What dimensions should be used for the patio? Round your answer to the nearest

tenth of a foot. 9.6 ft by 15.6 ft

Solve using the Quadratic Formula. Round to the nearest hundredth if necessary.

19. x2+3x-40=0 —8,5 /S S e =0

Find the number of x-intercepts of each function by using the discriminant

22, 4x? — = . ' .
dx°—dx+1=y 1 23. y=2x2 4 5x— 25 2 24, y=Lx?2+8




